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Post-Tactic Configurations
p ⇒ q
hypothesis goal

I
prove ⇒ True ✓

Fake ⇒ ✓

.H ^ a ⇒ H ✓
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Axiom vs. Theorem
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↳ theorem>proof needed

✗ hypotheses(
( c- N± ⇒ c > 0 axmlxcxm2.IM/mn

positivenumber
⇒
thmI

{ ✗ I7C-2AX> 0} f
goal



Event Action

V : = value
4.
a variable assignment .



Proof Obligation: INITIALIZATION/inv1/INV
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Event- B events
↳ guards t.IT?a%daabkdImodeling ↳ True → event enabled

to invoke

Java methods
↳ Fake→ event disabled

programming ↳ preconditions
( exception )
↳ True → method exec.

↳ False → exceptions thrown.
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Proof Obligation: withdraw/inv3
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